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p#F L % 3Bt A £%F & * 53

107 15 1075078%%2 FM;%";M“‘ RAES R 2,100 | fufer mates
107 1] 1075079)33 @ 300 | ger i
107 19|  1075080[5 4 5 % 1,000 | i n gt es
107 19| 1075081 ]34 2 1,000 | efor o
107 19| 1076636]% % % 300 | g r v
107 19|  1076637)2 5% 20,000 | e it e
107 1p|  1076638[p Mz < 220 ®i2 3 20,000 | e didt e
107 19| 1076639] i 3% 15,000 | iSqc it o
10739 |  1076314[# 3% 600 | g~ v
10730 | 1075533[4 -k 3,000 | et e
10739 | 1076640[j 7 15,000 | iSqc it o
10739 [ 1076641 [ * 10,000 | iSde it e
10730 | 1076642[% % & HEBEY 3,040 | ide it o
10739 | 1076643[% 44 3,000 | i ates
10739 | 1076644 7w 3,000 | it e
10739 | 1076645z 135 2,000 | it o
10739 | 10766462 & = 2,000 | it o
10739 | 1076647[#s35 0 % 1,000 | et e
10739 | 1076648]m % & 1,000 | et e
10739 | 10766498 3 1,000 | et e
10739 | 1076650] v & 500 | e r aares
10739 | 10766512 & 500 T
10739 | 1076652 37 ik 4t 300 | g r v
10739 | 10766537 2 5 300 | g r v
107 4p | 1076315]i % 4 5,000 | i< it o
10749 | 1076316] % i A% kg 2,000 | i it o
10749 |  1076317) A% kg 2,000 | i it o
107 4p | 1076319]5 * Mz kg 6,000 | ikdc it o
10749 | 10750824 % 5,000 | i< it o
107 4p |  1076654]m = % 2,000 | i it o
107 4p | 1076655]# = 2,000 | i it o
107 4p | 10766563 < £ 600 | iufer e
107 4p | 1076657 77 600 | e n aares
107 4p | 1076658]% 600 | iufer v
107 4p | 1076659]2 600 | e n aares
107 4p | 1076660[r % % 500 | fer e
107 4p | 1076661[2 5% 500 ¥ %t o

107 4p | 10766622 2 % 500 | e r aares
107 4p | 10766633 55 7 500 | ffer e
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p 3 Yo g St B R &3F #* Ay
107 4p 107666445 i & 500 oy » At s
102 5p 1076665|Fh % 7% 3,000 [ » & F g 5 FA e
102 5p 1076666|3& E4 ~ &% ~ 5 g 3,000 MT ~ AT Bb
102 5p 1076667(* £ % 3. 1,000 MojT ~ A BA
102 5p 1076668 [ =32 2 1,000 MojT » A BA
102 5p 1076669(& £ £ 500 MojT » A A
107 5p 1076670 P 2= 4, ~ ®iE % 100 Mo~ AT B4
107 6P 1076671 [ = £ L 3,000 M e~ AT Bs
107 6P 107667238 P B, 2,000 M e~ AT Bs
107 6P 1076673 % =% 2,000 Mo~ AT B4
10* 6p 1076674 (17 £ [F] 1,000 Mo > A BS
107 6P 1076675|+k % & 1,000 Mo ~ AT B4
107 6P 1076676585 & 600 ta g A e
107 6P 1076677 |88 # 600 ta g A e
107 6P 1076678 (#@rs% 32 600 ta g A e
107 6P 10766793 1 % 600 ta g A e
107 6P 1076680(7% 4 % 500 ta g A e
102 6p 1076681(% §F & 500 T » A Bb
107 6p 1076682(% & # 200 T » A s
107 7p 1076695 =k # & F & 500 4T ~ At s
107 7p 1076696 i+ % 10, 000 Mo~ AT B4
107 7p 1076697 &=F)7 ~ PR 1,000 Mo ~ AT B4
107 7p 1076712 = + 500 = e » AT s
10*7p 1076713 F 4k 500 Mo~ A B
107 7p 1076714 = A 500 Mz~ AT A
107 7p 1076715[% =+ % 500 )T » A s
107 7p 1076716(& 53 2 500 T > AT BS
107 7p 1076717| 3 4240 500 Mo~ AT B4
107 7p 107671847 7% 42 500 o~ LAt B
107 7p 10767195~ ®= 500 Mo~ AT B4
107 7p | 1076720|%1< % 500 e At o
107 7p 1076721 | & i 500 e~ A B
107 7p 107672251+ = 500 B~ (LAE s
107 7p 1076723] % 57 % 500 Mo~ AT B4
107 7p 1076724k 7 2& 500 o~ AT B4
107 7p 1076725( % = 500 Mo~ AT B4
107 7p 10767267 i% & 500 Mo~ AT B4
107 7p 1076727 3% % i 500 o~ AT B4
107 7p 1076728 [FR 47 7 500 o~ AT B4
107 7p 1076729 % = 500 Mo~ AT B4
107 7p 1076730 (++"8 % 500 Mo~ AT B4
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p 2 T g S es & &% & * 53
102 7p 107673158 i 500 4T » A Bb
10% 7p 1076732 %1 5. i 500 Moy~ FLAT B4
10* 8p 1075538 & 4 10, 000 B~ (AE B4
10% 8p 1075083] & = 4 4 1,000 Moy~ FLAT B4
107 11p 1075537|4% 45 = 30, 000 Mof ~ LA B4
107 11p 1075085] & s 4 4 5,000 Moy~ FLAT B4
107 11p 1076685|A- B2 A &7 7 2P § & ¢ 9,000 Mo~ AT A
107 11p 1076686k % = 2,000 Mo~ AT A
107 11p 1076687 % & 2,000 Mo~ AT A
107 11p 1076688 Fn ;% 4 3,000 Mo~ AT A
107 11p 1076689 %= kR ~ e £ 2 500 Mo~ AT A
107 11p 1076690 %145 ¥ & Jir 200 Mo~ AT A
107 11p 1076691 (%] & » & Ji 200 Mo~ AT A
107 11p 1076692 % % & & iy 200 Mo~ A BS
107 11p 1076693 T-v4 1,000 Mo~ AT A
107 11p 1076694 ¢ #7p4 1,000 Mo~ AT B4
102 12p 1075536|zF & & 10, 000 Mo~ AT A
107 12p 1075087( &R 2. 74 9,000 Mo~ AT B4
107 12p 1076683 [Fh = & 1,000 Mg~ AT B4
107 12p 1076684 |4k 75 100 Moz ~ AT S
107 13p 1076320] = 2 Pe 13, 335 Mo~ AT A
107 13p 1075088[+k = T 5,000 Mo~ AT B4
107 13p 107669838 = = ~ 3R A ~ HR & 3,000 Mo~ AT B4
107 13p 1076699] 3% 1,000 Mg~ AT B4
107 13p 1076700] B g #¢ 1,000 Mo~ AT B4
107 13p 107670158 B 4 1,000 Mo~ AT B4
107 13p 1076702|Fr 4831 500 Mg~ AT A
107 13p 1076703(# ~ % 200 Mo~ AT A
107 14p 1076321(% = #F 10, 000 Mg~ AT B4
107 14p 1076322 & 20, 000 Mg~ AT A
107 14p 1076323[ & #“ # 15 L jfFr+ € 200, 000 o~ AT S
107 14p 1075089 % = =3 30, 000 Mg~ AT A
107 14p 1075090( % & & 9,000 Moz~ AT B4
107 14p 1076704 =7 2 2,000 Mo~ AT B4
107 14p 1076705 3= i/ 2 2,000 Mo~ AT B4
107 14p 1076706 T /™ & ¥ 7 L 2,000 Mo~ AT B4
107 14p 1076707 % £ 48 1,000 Mo~ AT B4
107 14p 1076708 +k & = 1,000 Mo~ AT B4
107 14p 1076709(% = & 1,000 Mo~ AT B4
107 14p 107671045 #« ~ 500 Mo~ AT B4
107 14p 10767113 5,000 Mo~ AT B4
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107 17p 1076733| 54> & 50, 000 o~ A B
107 17p 1076734 |r R 3k 3,000 Mo~ A B
107 17p 1076735| % p i& 1,000 |Mfe» ¥R 5 Ewe
107 17p 1076736 % % = 1,000 |z~ i f 5 At e
107 17p 1076737| % ® pf 200 |t~ LF K 5 ER
107 17p 1076738| & i& 4= 200 | e » R R 5 A e
107 17p 1076739| & + % 200 |Mjx ~ ¥ f g EAT B4
107 17p 107674045 & # 200 |~ BF R F ER
107 17p 1076741 | m 75 % 200 Mo~ A B
107 18p 1053846| B 7+ € 300A2% o~ # L P JFr 5 ¢ 1,060,000 | % & ‘&ig 2 K §4¢ 8t
107 18p 10763243 & 55 5,000 Mo~ A B
107 18p 1076325| & & % 5,000 Mo~ A B
107 18p 1074676| £ 7453 4 12 @ 50, 000 Mo~ A B
107 19p 1076742| 0 aemp ~ ¥R 44m 1,000 Mo~ A B
107 19p 1076743 (4% = £ 500 G B e
107 20 p 1076326|F 4 F s AL A4 ¢ 143, 788 3R 45 4 At
107 20 p 1076744 (% 50 > F 22 @ 6. 000 AT~ AT B
107 20 p 1076745|Fh £ 4 1,000 Mo~ A B
107 21 p 1076746\ & % 5,000 Mo~ A B
107 21 p 1076747|+ B ~ 5,000 T~ FLAT B
107 21 p 1076748|8% 2 ~ #7745k 1,000 Mo~ A B
107 21 p 1076749|4k % 1,000 Mo~ A B
107 21 p 1076750 (45 48 # 500 Mo~ A B
107 22p 1075091 & =+ L 1,000 T~ FLAT B
107 22p 1076751 |37 < & 1,000 Mo~ LA B
107 24 p 1076759(4 % A 2,000 Mo~ A B
107 24 p 1076760 im ~ 1,000 Mo~ LA B
107 24 p 1076761"a 5 M & %3 12 ? 1,000 T N LA B
107 24 p 10767625784 % 500 Mo~ LA B
107 24 p 1076763| & 35 i 4k 100 Mo~ A B
107 25p 1075092| %129 ~ § #3 ~ Flidd ~ 514 2 1,000 Mo~ LA B
107 25p 1076752| 4 4,000 |z » 5o g A B
107 25p 1076753 | 3 4 2,000 Mo~ LA Bs
107 25p 1076754| ¥ ¥4 B 1,000 Mo~ LA Bs
107 25p 1076755| @ R¥ s 2 1,000 Mo~ LA Bs
107 25p 1076756|® ¥ 5 % 1,000 Mo~ LA Bs
107 25p 1076757|® ¥ 4o iF 1,000 Mo~ LA Bs
107 25p 10767584 ¢, i 1,000 Mo~ LA Bs
107 27p 1076764|% * & 3,000 Mo~ LA Bs
107 27p 1076765| % 4 1€ 500 T N T B
107 28 p 1076766|5& 7 3,000 Mo~ LA Bs
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p#F L % 3Bt A £%F & * 53
107 28 p 1076767|% 35 % = 2,000 o~ A B
107 28 p 10767684k = 2,000 e N A B
107 28 p 1076770 Ft < g ~ 3k 2 ) 600 T~ FLAT B
107 28 p 1076771|% % = 560 Mo~ At B
107 29p 10767723 B +> 1,500 Mo~ A B
107 29p 10767732 i 2 500 T~ FLAT B
107 29 p 1076774|% & 500 Mo~ A B
107 30p 1075093|% & % 1,100 Mo~ A B

& 1,935,323




